MANATEE COUNTY GOVERNMENT INTENT TO AWARD

SUBJECT	12 th Street East Storm ar Watermain Improvement		MC 1/27/15 /SE DS 1/27/15 /SE CC N/A
PURCHASING REPRESENTATIVE	Chris Daley, CPPO CPPI 749-3048	B DATE CONTRACT SHALL BE AWARDED	Seven days after the date Posted
DEPARTMENT	Public Works/ Michael Sturm	CONSEQUENCES IF DEFERRED	Delay in project
SOLICITATION	IFB #15-1926CD	AUTHORIZED BY DATE	Melissa Wendel, CPPO July 27 2015
	NOTICE C	F INTENT TO AWARD	- Visit
	dder, gator Grading & Pa	o, 12 th Street East Storm and Watern ving, LLC, Palmetto, FL for a total b	
Federal/State law(s), admin	N22/17 TAVO_210_100000 A 150.00 100.20	EGULATING AUTHORITY unty Comp Plan/Land Development Code, o	rdinances, resolutions, policy.
	Manatee	County Code of Laws	
	BACKGE	ROUND/DISCUSSION	
Manatee County Gator Grading & Paving Woodruff & sons, Inc. Westra Construction Co	, LLC	(4) bidders submitting a sealed bid for Bid (180 days) \$378,738.80 \$399,733.27 \$423,238.70	er consideration:
Collier County Quality Enterprises USA	, Inc.	\$438,558.09	
		from the Public Works Department bid amount of \$378,738.80 with a 180	
 Funding for this project 12th St E Watermain Low 		s in the budget account key 40251339	970-534000/5133970-0004 (WTR:
	Department		WTR: 12 th St E Watermain Lowering: 4025133970-534000/ 5133970-0004
ATTAOLISTA	Recommendation	FINDING COL	IDCE
ATTACHMENTS (List in order of attached)		FUNDING SOL (Acct Number & N	IXI FIINGS VARITION

MEMORANDUM

To:

Melissa M. Wendel, CPPO, Purchasing Official

From:

Jeff Streitmatter III, P. E., Project Management

Division Manager

Date:

July 22, 2015

Subject:

12th Street East Stormwater and Water Main

Improvement Project

Gator Grading & Paving LLC

Recommendation for Award - IFB# 15-1926 CD

The bids for the above referenced project have been reviewed by staff. The bid tabulation form is attached for your review. It is recommended that the contract with a construction time of 180 Days be awarded to the lowest responsive, responsible bidder, Gator Grading & Paving LLC in the amount of \$378,738.80 and in accordance with the terms and conditions of the bid package. Upon completion of project award, please provide a copy of the purchase order assigned to the contractor. The funding source for this contract is Utility Rates.

Please contact Michael L. Sturm, P.E., if you have any questions regarding the attached documents.

Thank you for your continued assistance.

JS/ms

CC:

Mike Gore, Director, Utilities

Ron Schulhofer, Director, Public Works

Sia Mollanazar, P.E., Deputy Director, Engineering Services

Michael L. Sturm, P.E., Project Manager 1415

Project File: Project # 5133970 9.2

Public Works Department Project Management Division 1022 26 Avenue East, Bradenton, FL 34208-3926 Phone number: (941) 708-7450

TABULATION IFB #15-1926CD- 12TH STREET EAST STORM AND WATERMAIN IMPROVEMENTS

	BID SUMMARY				LC th St East	Woodruff & P.O. Box 10 Bradenton,	127	Corp. 1263 17t	h Street East	Quality End USA, Inc. 3894 Mann Naples, FL	nìx Drive,
ITEM NO.	DESCRIPTION	UNITS	QTY.	*378,738.80		**TOTAL BID PRICE \$399,733.27		**TOTAL BID PRICE \$423,238.70		**TOTAL BID PRICE \$438,558.09	
1	Total Offer Bid Based on Completion Time of 180 Calendar Days	LS	1								
	Acknowledge Addendum #1				Yes		Yes		Yes		Yes
	Bid Bond				Yes	i	Yes		Yes		Yes
	Registered to do business in State of Florida				Yes		Yes		Yes		Yes
	FDOT Pre-Qualified in categories of Drainage, Flexible paving, and Underground Utilities (Water & Sewer)				Yes		Yes		Yes		Yes

Keyed By:	ex1	7/15/2015
	Chris Daley-CPPO, CPPB, Contract Specialist	Date
Checked and Reviewed By:	7/ 1-7/1	7/22/0
Checked and Reviewed By:	John Pari, PE- Engineer of Record	Date
4	Michael Sturm, PE- Project Manager	Date

TABULATION IFB #15-1926CD- 12TH STREET EAST STORM AND WATERMAIN IMPROVEMENTS

						Gator Grading & Paving, LLC		Woodruff & Sons, Inc.		Westra Construction Corp Inc. 3894 Mannix Driv		
					2704 105th S	St East	P.O. Box 10	127	1263 17th S	treet East	216	Drive, Suite
				Palmetto, FL 34221		Bradenton, FL 34282		Palmetto, FL 34221		Naples, FL 34114		
ITEM NO.	FDOT Item No.	DESCRIPTION	EST. QTY.	U/M	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)
1	101-1	Mobilization	1.00	LS	\$30,300.00	\$30,300,00	\$49,056.72	\$49,056.72	\$124,000.00	\$124,000.00	\$59,760.00	\$59,760.00
2	102-1	Maintenance of Traffic	1.00	LS	\$22,000.00	\$22,000.00	\$11,470.94	\$11,470.94	\$12,500.00	\$12,500.00	\$25,267.20	\$25,267.20
3		Portable Changeable Message Sign - Temporary	84.00	ED	\$15.00	\$1,260.00	\$44.85	\$3,767.40	\$83.00	\$6,972,00	\$19.20	\$1,612.80
4	104-10-3	Staked Silt Fence (Type III)	600.00	LF	\$4.00	\$2,400.00	\$5.34	\$3,204.00	\$1.85	\$1,110.00	\$3.00	\$1,800.00
5	104-11	Floating Turbidity Barrier	20.00	LF	\$35.00	5700.00	\$129.09	\$2,581.80	\$20.00	\$400.00	\$24.00	\$480.00
6	6	Inlet Protection System	14,00	EA	\$100.00	\$1,400.00	\$407.87	\$5,710.18	\$83.00	\$1,162.00	\$180.00	\$2,520.00
7		Clearing & Grubbing, Incl. riprap, Irees, pipes, structures, wells, & underdrain removal.	0.26	AC	\$90,000.00	\$23,400.00	\$81,295.54	\$21,136.84	\$91,000.00	\$23,660.00	\$128,723.08	\$33,468.00
7.a	125-1	Excavation for Structure (unsuitable - if necessary)	10.00	CY	\$80.00	\$800.00	\$9.62	\$96.20	\$13.00	\$130.00	\$91.80	\$918.00
7.b	125-3	Select Bedding Material (if necessary)	10.00	CY	\$115.00	\$1,150.00	\$79.58	\$795.80	\$21.00	\$210.00	\$120.00	\$1,200.00
8	160-4	6" Stabilized Sub-base (LBR 60)	377.00	SY	\$25.00	\$9,425,00	\$31.85	\$12,007.45	\$6.75	\$2,544.75	\$12.60	\$4,750.20
9	285-704	Optional Base Group 4:	377.00	SY	\$26,00	\$9,802,00	\$23.70	\$8,934.90	\$15.60	\$5,881.20	\$17.70	\$6,672.90
10	327-70-1	Milling Exis. Asph. Payment (1" Ave. Depth)	737.00	SY	\$9.50	\$7,001.50	\$17.74	\$13,074.38	\$5.70	\$4,200.90	\$11.25	\$8,291.25
11	334-1-MC1	1" Type S-I Asphalt Concrete (Incl Tack Coat)	22,60	TN	\$300.00	\$6,780.00	\$387.22	\$8,751.17	\$199.00	\$4,497.40	\$180.00	\$4,068.00
12	334-1-MC2	1" Type S-Ill Asphalt Concrete	44.20	TN	\$200.00	\$8,840.00	\$314.82	\$13,915.04	\$170.00	\$7,514.00	\$180.00	\$7,956.00
13	400-1-2	Class I (Endwall), Incl. Reinforcing Steel	3.26	CY	\$800.00	\$2,608.00	\$1,442.85	\$4,703.69	\$890.00	\$2,901.40	\$1,087.00	\$3,543.62
14	425-1-521	Inlet (Dt Bot) (Type C) (<10')	6.00	EA	\$4,100.00	\$24,600.00	\$2,032.21	\$12,193.26	\$2,415.00	\$14,490.00	\$2,628.00	\$15,768.00
15	425-1-541	Inlet (Dt Bot) (Type D) (<10')	2.00	EA	\$4,700.00	\$9,400.00	\$3,313.76	\$6,627.52	\$3,000.00	\$6,000.00	\$3,519.00	\$7,038.00
16	425-1-549	inlet (Dt Bot) (Type D Modified) (<10')	1.00	EA	\$5,100.00	\$5,100.00	\$4,529.35	\$4,529.35	\$4,100.00	\$4,100.00	\$4,008.00	\$4,008.00
17	425-1-MC1	County Junction Box	2.00	EA	\$5,250.00	\$10.500.00	\$4,043.45	\$8,086 90	\$3,140.00	\$6,280.00	\$3,614.00	\$7,228.00
18	430-175-11	Pipe Storm Sewer Culv (RCP)(15")	295.00	LF	\$44.00	\$12,980.00	\$28.10	\$8,289.50	\$65.00	\$19,175.00	\$88.80	\$26,196.00
19	430-175-11	Pipe Storm Sewer Culv (RCP)(18")	90.00	LF	\$74.00	\$6,660.00	\$73.86	\$8,847.40	\$105.00	\$9,450.00	\$95.70	\$8,613.00
20	430-175-12	Pipe Storm Sewer Culv (RCP)(24")	319.00	LF	\$87.00	\$27,753.00	\$61.96	\$19,765.24	\$102.00	\$32,538.00	\$106.35	\$33,925.65
21	430-175-13	Pipe Storm Sewer Culv (RCP)(30")	28.00	LF	\$200.00	\$5.600.00	\$172.25	\$4,823.00	\$160.00	\$4,480.00	\$123.50	\$3,458,00
22	430-175-14	Pipe Storm Sewer Culv (RCP)(42")	32.00	LF	\$230.00	\$7.360.00	\$187.56	\$6,001.92	\$180.00	\$5,760.00	\$176.80	\$5,657.60
23	430-175-21	Pipe Storm Drain Culv (ERCP) (14"x23")	31.00	LF	\$67.00	\$2,077.00	\$126.08	\$3,908.48	\$90.00	\$2,790.00	\$166.65	\$5,168.15
24	430-175-22	Pipe Storm Sewer Culv (ERCP) (19"x30")	40,00	LF	\$83.00	\$3,320.00	\$123.53	\$4,941.20	\$150.00	\$6,000.00	\$150.85	\$6,034.00
25	430-984-12	MES (Conc Pipe Round) (15") (SD)	1.00	EA	\$1,900,00	\$1,900.00	\$3,369,02	\$3,369.02	\$1,180,00	\$1,180.00	\$1,570.00	\$1,570.00
26	430-984-62	MES (Conc Pipe Ellip) (14"x23") (SD)	2.00	ÉA	\$2,300.00	\$4,600.00	\$2,555.42	\$5,110.84	\$1,240.00	\$2,480.00	\$1,634.00	\$3,268.00
27	522-2	6" Concrete Sidewalk, Reinforced Driveway	118.00	SY	\$140.00	\$16,520.00	\$92.43	\$10,906.74	\$75.00	\$8,850.00	\$120.60	\$14,230.80
28	550-10-228	Fence, Removal and Reinstall	160.00	LF	\$24.00	\$3,840.00	\$41.65	\$6,664.00	\$12.00	\$1,920.00	\$22.45	\$3,592.00
29		Sodding (Parformance Turl, Bahia) (Includes Mowing)	893.00	SY	\$3.50	\$3,125.50	\$9.09	\$8,117.37	\$2.60	\$2,321.80	\$10.70	\$9,555.10
30		6" PVC (C-900) (Direct Bury)	380.00	LF	\$40,00	\$15.200.00	\$41.12	\$15,625.60	\$20.50	\$7,790.00	\$55.30	\$21,014.00

TABULATION IFB #15-1926CD- 12TH STREET EAST STORM AND WATERMAIN IMPROVEMENTS

							Woodruff & Sons, Inc. P.O. Box 10127		Westra Construction Corp 1263 17th Street East		Quality Enterprises USA Inc. 3894 Mannix Drive, Suite 216	
					Palmetto, Fl	. 34221	Bradenton,	FL 34282	Palmetto, F	L 34221	Naples, FL 3	34114
NO.	FDOT Item No.	DESCRIPTION	EST. QTY.	илм	PER UNIT (\$)	TOTAL BID PRICE (\$)	PER UNIT (\$)	TOTAL BID PRICE (\$)	BIO PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)	BID PRICE PER UNIT (\$)	TOTAL BID PRICE (\$)
31		6" DIP (CL350) (Direct Bury)	50,00	LF	\$88.00	\$4,400.00	\$88.94	\$4,447.00	\$65.00	\$3,250.00	\$122.60	\$6,130.00
32	(CC) (CO) (CC) (CC) (CC) (CC) (CC) (CC)	6° Gate Valve	3.00	EA	\$1,250.00	\$3,750.00	\$2,020.20	\$6,060.60	\$985,00	\$2,955.00	51,634.80	\$4,904.40
33	13	4" DIP (CL350) (Direct Bury)	140.00	LF	\$60.00	\$8,400.00	\$57.70	\$8,078.00	\$66,00	\$9,240.00	\$114.65	\$16,051.00
34		4" Gate Valve	2.00	EA	\$1,000.00	\$2,000.00	\$2,167.56	\$4,335.12	\$850.00	\$1,700.00	\$1,305.00	\$2,610.00
35		Ductile Iron Fittings, Water	326.00	LB	\$11.00	\$3,586.00	\$15.87	\$5,173.62	\$11.00	\$3,586.00	\$12.10	\$3,944.60
36	Ja	Service Connection, Water (short, single)	5.00	EA	\$1,000.00	\$5,000.00	\$1,083.53	\$5,417.65	\$825.00	\$4,125.00	\$992.65	\$4,963.25
37	DIN COLO	Service Connection, Water (short, double)	1.00	EA	\$1,650.00	\$1,650.00	\$3,354.84	\$3,354.84	\$1,425.00	\$1,425.00	\$1,347.60	\$1,347.60
38		Service Connection, Water (long, single)	1.00	EA	\$2,940.00	\$2,940,00	\$4,146.87	\$4,146.87	\$1,125,00	\$1,125.00	\$1,950.00	\$1,950.00
39		Service Connection, Water (long, double)	1.00	EA	\$3,400.00	\$3,400.00	\$4,429.71	\$4,429.71	\$1,750,00	\$1,750.00	\$2,320.80	\$2,320.80
40		Connection to Existing Water Lines	4.00	EA	\$2,900.00	\$11,600.00	\$2,276.35	\$9,105.40	\$2,025.00	\$8,100.00	\$528.65	\$2,114.60
41		Remove existing 4" and 6" water mains	565.00	LF	S12.00	\$6,780.00	\$17.97	\$10,153.05	\$22.00	\$12,430.00	\$16.85	BB 525.25
42		Pipe Joint Restraints	12.00	EA	\$200.00	\$2,400.00	\$323.18	\$3,878.16	\$149.00	\$1,788.00	\$350.20	\$4,202.40
		TOTAL BASE BID - Based on Completion Time of 180 Calendar Days				\$344,308.00		\$363,393.88		\$384,762.45		\$398,689,17
43	1.5	CONTRACT CONTINGENCY WORK (USED ONLY WITH COUNTY APPROVAL)	10% OF BASE			\$34,430.80		\$36,339.39		\$38,476.25		\$39,868.92
		TOTAL OFFER with Contract Contingency on Completion Time of 180 Calendar Days	Based			\$378,738.80		\$399,733.27		\$423,238.70		\$438,558.09